121025 00
http://goo.gl/MFRFj

goboooog 100

000 (eigenvalue) D00 O0OO0OOO0O0OODODOOO

10.1 000

OO0 A0DDODOCDO £ 00 k0000DO

00000000 70 A=kZ0000000Kk0 ADDOCDOZO0 ADKOOODOD
gboooobooo

goouooooooon
AZ = ki <= AT =kET <= (A—kE)Z=0
0000000000000000

00000 characteristic polynomial

0000 AQOODOD
A-zE0O00O00 ADDOCODODOOOOOO

OO0 A-kp000D00COOOO0OO0Z000CO0000000D0DO20000000O
OO000D0A—-kEFO0ODOOODODOOOOOODOOOOOODOODOOOODOODO

4 -3
A= 5 ) O0oo0A0OO0ODDOOO 3, 00000020000

00000k -3k+2=00000k=1,2

k=10000000000 (eigenvector) 00D ODOODO
— 1
A—Ez(i 2)DDDD£DDDDDD<1>DDDD

0oQ 4 -3 1 _ 1
2 -1 1 1
F=20000000000 (eigenvector) 0000000

oo (3 3) (2) = (2)

2 _
A—2E:<2 §>DDDD:§DDDDDD<§>DDDD



o0 A= 00000 o,s0000

(
(v 2))(; s )
(

12 ) _ppppooOoBOOOO0OOOOOOO
Y1 Y2
piag=| "
0 B
00 A0D0O0COOOO00
oooO0o0O0oo0ooo
On a™ 0
“ = 000 (B~'AB)"=B-'A"B
0 g3 0o p"
Dooo00oooon
n
ooooooar=g( ¢ 0 )
0 B
0
4 — 1 1
A= 5) p- 3)Yoooo aB=—B 0
9 —1 1 2 0 2

B~'AB = L0 , hence B~'A"B = L0
0 2 0o 2"

ooooooar—s( ' % ) ga (13 [0 9
02” 1 2 02n 1

000 TaDaNoO DO OO OO

3] (22l oo
Y1 Y1 c d Y2 Y2



